Vyjadieni pravdépodobnosti a jistoty pomoci zpusobovych sloves (gramatika str. 216, cvigeni str. 308)

MOZNA, ASI (odhad na 30-50%)

URCITE (jistota na 100%)

+ She may be here. = Mozna tady je. (odhad na 50%)
+ She might be here. = Mozna tady je. (na 30%, vétsi nejistota)

- She may not be here. = Mozn4 tady neni. (na 50%)
- She might not be here. = Mozna tady neni. (na 30%)

opisem: Maybe she is here. Perhaps she is here.

+ She may be here tomorrow. = Mozn4 tady zitra bude.
+ She might be here tomorrow. = Mozna tady zitra bude.

- She may not be here tomorrow. = Mozn4 tady nebude...
- She might not be here tomorrow. = Mozna tady nebude...

opisem: Maybe she will be here. Perhaps she will be here.

+ She must be here. = Ur¢ité tady je. (Musi tady byt.)

- She can’t be here. = Ursité tady neni. (Nemdze tady byt.)
used only in Brg

- She couldn’t be here. = Ur¢ité tady neni. (Nemohla by byt...)
both AmE and BrE

- She must not be here. = Urgité tady neni. (Nestahuije se.)
used only in AmE

opisem: I’m sure (that) she’s here. I’'m certain (that) she’s here.
She’s certainly here. Surely she’s here... No doubt...

Poznamka 1: used only in AmE _
Zpusobové sloveso must not se ve vyznamu ,urcité ne” nestahuje.
Jiné uZziti je zakaz: You mustn’t do it. = Nesmis to délat.
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Zakaz ,nesmis” se bézné stahuje a pouziva jak v BrE tak v AmE.

+ She may have been here yesterday.
= MoZzna tady v€era byla. (odhad na 50%)

+ She might have been here yesterday.
= Mozna tady vC€era byla. (30%, vétsi nejistota)

- She may not have been here yesterday.
= Mozna tady v€era nebyla. (na 50%)

- She might not have been here yesterday.
= Mozna tady v€era nebyla. (na 30%)

opisem: Maybe she was here. Perhaps she was here yesterday.

+ She must have been here. = Urgité tady byla.

- She can’t have been here. = Uriité tady nebyla.
used only in Brg

- She couldn’t have been here. = Ur¢ité tady nebyla.
both AmE and BrE

- She must not have been here. = Ur¢ité tady nebyla.

used only in AmE

opisem: I’m sure (that) she was here. I’'m certain (that) she was...
She certainly was here. Surely she was here... No doubt...

Poznamka 2: Zp. slovesa ,may not“a ,might not“ se nestahuji. Zplisobové sloveso ,may*“ se pouZiva také jako zdvofila Zadost o svoleni: May | see it? = Smim to vidét?
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